Al

L
ZEAR—LAFEY (FE - H®)

TA26%8 A1A (No. 1)
%!g A mOE m - ya-bATAR AR WA %
E i <

w|E BEE lea|za e % | i | An B wanns| Hma | XAR (<o = : *

1 0 0 0 0 0|

2 0 0 1 0 0|

3 1 0 1 0 0 0
%4 11 0 1 0 0| ZpEm
#|5 0 0 0 0 0|
z[6 0 0 0 0 0 0
NI 1 1 1 0 0 2
w8 0 0 0 0 0 2
I {9 2 0 0 0 0|
L0 3 0 0 0 0 2

11 0 0 0 0 0 5

12 0 0 0 0 0|

18] 1 4 0 0 11

" E N
] % . %ﬁ;ﬁﬁ_’)ﬁ (ﬁﬂfw) RAR [E~EH s;ﬁi?)%
LN, AP E | % AR BEE E

B | =

1 B R E 104, 105 101% 2 1 4 3 3

2| £ x= & 132) 131 ooy 5 o 4 o R
w8 mxE 48 96% 1 4 1 1 2

4 % [ 2 1 2 0 2
2[5 # 1 3 2 0 2

6 # 1 0 2 2 2
® |7 H# 3 0 2 1 3

8 [ 3 0 0 0 0
EZIE N 1 1 3 0 3

0| = 0 8 0 0 0
1 & 1 0 0 0 2

PIEETTE: 0 1 1 1 1
NI BN 0 5 2 0 1

Wl HroxE 2 4 2 0 1
& |15 # # R 0 0 3 1 4

6] ®mF & 0 1 1 0 1
1|17 #® F ¥ 0 0 1 0 1

18 B B HE 1 1 0 0 1
L[19] EAREHE 0 1 0 0 1

20| XAEELR 1 1 2 0 2

2| & % B 0 0 1 0 1

2| # B #® 0 1 1 1 1

28| 0 1 0 0 0

| % B 0 2 1 0 0

%| &% H 1 0 0 0 0

%] % = 2 1 1 0 1

27| ® & 0 1 1 0 0

28| »< 0 2 2 0 1

29| B ® 0 1 0 0 0

EY RS 0 0 1 0 1

31 % B 0 1 2 0 2

Y 0 0 0 0 0

33 Lb~E 0 0 1 0 1

3| mEmTLIE 0 0 2 0 0

35 B O 0] 1 1 0] 0

6| * # 0 0 2 1 3

3| H o5 1 1 1 0 0

38 x4 54 7EHED 0 0 2 0 2

9] 2z = 0 1 1 1 2

0] oqvrmnL 1 0 1 0 1

41 WHLOR 0 1 1 0 1

2| B & % 0 0 3 1 3

8| B E 1 1 2 0 1

“l B £ 3 0 2 0 2

45| ®BfEAC 0 0 1 0 1

6] B Mo 4 0 1 0 1

7] B 1 0 4 1 4

8[7zY—FLBR 0 2 1 0 1

¥ ®& A 0 2 4 0 4

50 5< %A 1 0 1 0 1

51 yaEs02 3 1 0 0 0

52| BHHEY 2 1 0 0 0

53 YR 4 2 0 0 0

54 RO 3 0 2 0 0

55 [¥754 MR MEE 0 0 1 0] 1

56 | EHFEELEDS 0] 0 3 0] 3

57 o 0 0 0 0 0

58 | ELXBB 2 0 3 0 4

59 FEE 0 0 1 0 1

60 | 5<xABESR 0 0 0 0 2

61 | BHOB - B 0 1 1 0 0

62 BoE, 0 0 0 0 0

63| hrenF 0 0 1 0 1

64| LTxEOB 0 2 1 0 1

65 MEE 0 0 1 0 0

66| HEHALA 0 0 1 0 1

67 axE- 77 0 2 0 0 0

68 I-LZZE 0 0 0 0 0

69 BRER 0 0 1 0 1

70 | EREYTIAH 0 0 0 0 1

| #/% LE0Be 0 1 1 0 0

72 VHYER 0 0 0 0 0

73 o2 0 0 0 0 0

74| 475400z 0 1 0 0 0

75 | Iny—LichEE 0 2 0 0 0

76 HTLD 0 0 0 0 0

7 BYVH 0 0 0 0 0

78 N B 0 0 0 0 0

79| A7UsPFELS 0 0 0 0 0

80| vFEbYOR 0 0 0 0 0

81| #/R0Eb 1 0 0 0 0

82| #ra—+kA 0 2 1 0 1

83 | EHWESBEE 0 0 1 1 2

84 LoD 0 0 3 0 0

85 | IA—U—TRFRK 0 1 4 0 0

HEH B 55 19 9 15, 91| 1,836 24,068

W +HE=A+B 85 93 95| 1,836 24,068

ZERLFA

ZERLFA

ERLFA

ZERLFA
ZERLFA

ERLFA

ERLFA

ZERLFA
ZERLFA
ZERLFA

ZERLFA
ERLFA

ZERLFA

XA R

XA B




(NO. 2)

EAR—LAFRERAN (BH) FRL2658 A1R
= A BmE #
P 5% 5% S35 | @iAe) | @A

=
5 g A |RA|NAE| B % | @ | e E{J:% §§§§ EmEn

~WY AFE
RAE— 4
HPHNDE
BEALA
#oUn" -4E
N TEEE
A
7' b=7" N9
HUTVEDOHP
HIVR DT A
L VR
" FINgR - HD A
Ibh o4 449
YN Loy BisH
S VHEESE
HITEDT TN A
TN REB
BH=AB

|

B S > ok
©fow|w|o|o|a

3

N

=

=

&

clololololololololololololololo|o o

[EAt-LstA+ BB [ soe1[ sso7] oew[ 1213 a31a] 23] w3 18] w1l 07

fREEIE A BT WA FR2648 A18

w B & 55 AXM | BAR [MOA

f
3 R | RA |HEE| B | k|25 CAR | B4 |mae [A2H

B MTA-L
el %
ek -7 -4-h
WE5(777 4k
HEVHR—L
5 L o3
-7 =%
IEFEE A RS-
FRA DTS
O FE Y 5
J 4 IR
WB DB T~
MERTT - F-hlL VL & )
LEADEFOE
BET7EVE—

16 8 # &

17 | BREE 7475
18] mes-Lenb
19 NACH

0] %H< 5

21 | REHENITES-
22 a2
23| r7R—LEE
24 |WEr—s oy —
25 T F ¥

26 | JLY—LE D
2 | ETTEVE—
2 |[#OYDE BrE
29 | WA T DR 21
30 | K75 — 9 82 om @| 54 1
31 uhYDE 29 21 93% 6 21 4
EAREEHRE 2,819 2,669 95% 656/ 2,013 140/

18, 99 17 117%

WERE > RS

HEEEEE RN NN




